Department of Mathematics and Statistics (SQU)
MATH 3171 - Linear Algebra and Multivariate Calculus for Engineers
Spring 2008 - Quiz 1A

Name: Student ID:
0 0 —1
. Letu=1[a b c,v=[123andA=|0 1 0 |. Compute: ATuT and uTvoT.
10 0
Ty — Ty + 21’3 - Ty = 0
2. Solve the following linear system by Gauss elimination: —3x1 + 3x9y — 6x3 + dry = 12
21’1 — QZL'Q + 41‘3 - 21’4 = 0
1 -2 -1
3. Determine whether the vectors | 2 |, 0|, 0 | are linearly dependent or independent.

4 —4 -2



Department of Mathematics and Statistics (SQU)
MATH 3171 - Linear Algebra and Multivariate Calculus for Engineers
Spring 2008 - Quiz 1B

Name: Student ID:
0 —1
. Letu=1[a b, v=[1 23 and A= | 0 1 |. Compute: ATvT and wuTvoT.
1 0
Ty — Ty + 21’3 - Ty = 0
2. Solve the following linear system by Gauss elimination: 207 — 2z9 + 4dx3 — 224 = O
—31'1 + 31’2 — 61‘3 -+ 61’4 = 12
1 -2 -1
3. Determine whether the vectors | 2 |, 0|, 0 | are linearly dependent or independent.

4 —4 -2



Department of Mathematics and Statistics (SQU)
MATH 3171 - Linear Algebra and Multivariate Calculus for Engineers
Spring 2008 - Quiz 1C

Name: Student ID:
0 0 —1
1. Letu=1[a b c,v=[123andA= |0 1 0 [. Compute: ATvo? and vTuu’.
10 0
LCl—.T2+21'3—3I4:O
2. Solve the following linear system by Gauss elimination: —3r1 + 39 — 623 + Szy = 8
21’1 — QZL'Q + 41‘3 — 61’4 = 0
1 0 -1
3. Determine whether the vectors | 0 |, 11, 1 | are linearly dependent or independent.

1 2 3



Department of Mathematics and Statistics (SQU)
MATH 3171 - Linear Algebra and Multivariate Calculus for Engineers
Spring 2008 - Quiz 1D

0 —1
1. Letu=1[a b, v=[1 2 3and A= | 0 1 |. Compute: u AT and u ATvT.
1 0

—r1 + ® — 2x3 + 3x4 =
2. Solve the following linear system by Gauss elimination: —3r; + 3wy — 6x3 + 214 =
201 — 2x9 + 4x3 — bxs =

1 0 -1
3. Determine whether the vectors | 0 |, 11, 1 | are linearly dependent or independent.
1 2 3



